TP n°4

Niveau quatriéme :

Résoudre les équations suivantes :
1. 42+3=0
2. =1l +3=28

Niveau troisiéme :

Résoudre les équations suivantes :
1. 6z +3=—-Tzx+2(x—5)
2. —8x(x —4) + 2w +2% = —Ta? +2

Niveau seconde :

Résoudre les équations suivantes :

1. (42 —5)(3z+9) =0

T
2. 622 — = =
6a 5 0

Niveau premiére :
Résoudre les équations suivantes :
1. 22 +42+3=0

2. 422 — 122 +9=0

3. 224+24+1=0

Niveau premiére* :
Résoudre les équations suivantes :
1. (42 —-3)2-9=0

2. (—2+2)2=(3z—7)?

3.2t —42?2+3=0

Résoudre une équation



